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Advance paper for: ITI-Electronics Category-if ST/ TM -

01 | Select correct option of Ohm’s law? 3h'sng§f ma@ﬁﬁqgﬁ?
A) V=1R T ,|B)1—VR _ IC)R V1 |D)V R
_02 We require a resistor of 4}7 kQ with £ 10% tolerance. The sequence of colour band on this resistor
would be .BH 47 ka, 110%m$uﬁmﬂ$aﬁe«nam%lsqmwmm
s HTHH BRI ) -\ : ' :
A) Yellow, violet, B) Yeliow, brown, C) Yellow, violet, D) Yellow, violet,
orange & silver ! orange & snlver orange & gold brown & gold
03 | How many diodes are required in full wave bndge rectlfer'? Wﬁaﬁai‘kmlq{ T ipaq sars
w1 a=THar 8?7
Ay 1 |B)2 —Tc) 4 D)8'
04 | The base of a transistor is doped TP clive & o DI ¥ S19 fpar Sl e »
A) heavily HIY g1 | B) moderately HegH HIEAT ‘ C) lightly ¢! HIAT | D) None hIg 81 '
05 | The most commonly used semiconductor element is _ - i ey Gfﬁla’i sSXAATA
ﬁa—mﬁﬂﬁaﬁn arefenes gard 2 _ ‘
ACcu IB)AI '[C)C _ lD)Sl
06 | Amplification factor of a circuit is 50. To make it oscillator, feedback factor should be
TP TOHIR &1 UatH R$ 50 g1 59 aﬁﬁlﬁﬂ%@ﬁmmﬁ%ﬁmmw
. - 1| :
A) 50 . - l B) 1/50 ; | C) 100 , | D) 1/100
07 | Which among the following factors affect the output voltage of an un—regulated power supply'?
| el oReT # 9 11 ue i uiar 9awE F wmﬁwﬁam%
A) Load current B) Input voltage L C) Both A and B D) None &g A8l
WS B URT SYE dleeSl ' A 3R B &=
08 In an Intrinsic Semiconductor, number of holes will be equal to number of . 1!33 3T
e{%&—ﬂaﬁﬁ TaB AT PGS S SRIER Rl e
1 A) proton’EﬁE‘F-f B) free electron Qo< gaagi- | C) neutron ?qgﬁ D) none aﬁs“ Hé’f
09 | in a transistor, the base current is about_____ % of B tior CONGE D TP TifoRex 5, aﬁ RT
TR URT BT___ % ersl :
A)5 [B) 20 ~— ¢y 30 — [ D)50
10 | When transistors are used in digital circuits they usually operate. in the region. :
19 gifSrer @1 fSftes afdbe #f Suart fFar srar 8, A g8 SiFdR o & H BTH BT g
A) active HithT | B) breakdown Hsi- - | C) saturation and cut-off D) linear ¥ &%
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11

Zener diode Is commonly used as » SR STS BT AEAR U ___ o IUanT fear

S &1 , :
A) Current Source B) Amplifier C) liectiﬁér ' D) Vo!tége regulator
12| Choose correct opt|on ‘In a common emitter transistor ___ . el lAea g9 T HHA
A) le=lo+le - | B) le=lp+lc | C) lb=1c+le - “D) l=2xlp +le _
13 | In a P-N-P transustor the current carriers are T-'ﬁ—'UF-I tﬁmﬁ fagga
| URT ¥ TIES eﬁ gl . 7
A) donor ions . B) acceptor ions ' : C) free e|ectrons_ D) holes
SR 31IT STRIPR T - "= = ,
14 | To carry a current of 0.3 ampere in a 100 ohm resistor you will require é resistance of 100 Ohm,
Watt. 1oo@nuﬁﬁwﬁosmmm$ﬁmaﬂm1ooaﬁn gre &
TR Y sraRasdn T:h?’m
15 | Which is not an active component? &1 T T& H‘ﬁ'}‘q Ycdh qg’f%’
A) Transnstoraﬁm l B) SCR TIRIISR | C) Triac TS | D) ReS|stor uﬁfim
16 Memory that loses its contents when power supply is lost is known as __ memory. ﬁﬁ?ﬁaﬁ
TS 9 819 UR U1 a2 @l & arell FER By T weTSET e ,
A) static Q%ﬁa? | B) random%@l’q | ©) volatile FreeEd [ D) non-volatile 9t - a’mmsa
17 | A transistor is most sensmve to air. . UH TR sdTPp/BI_____ J 9ad Wm
A) pressure a—q'la : | B) temperature?l'l'qﬂ'l:l' | Cc) humidityaﬂﬁ?rr | D) speed Tifa
18 Which of the followings are the two main components of the CPU? l-lHIc1|~lsld AT BT CPU P
G- USH ©2 ,
A) Control Unit & B) Main Memory & C)Bus & ALU D) Control Unlt & ALU
Registers Registers a9 MR ALU Az s G?R ALY
19 | The least efficient amplifier among all is class it TN B QOB ER AT ______ail Bl
THOAHRR & 99 SH &l o o _‘ : - =
A) C [B) AB - " To) A — D) B
20 | The input frequency of a bridge rectifier is 50 Hz, then its output ripple frequency will be H=z=.

,HﬁWﬁWWﬁWWSOHZ%WmeEﬁm Hz B8Rt

A) 25 | B) 12.5 "l_C) 50 ' | D) 100
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21

If 40 Coulomb of charge flows past a point of conductor in 20 second, calculate the current? Tf&

20 s H HsacI F U &g F 40 T BT =16 Uaifed grar 8, df fFagga Ry 7o &7

A) 80 A B)2 A ' C)0.5 A D) 800 A

22

If a 1 k-ohm and a 2 k-ohm resistor are connected in parallel across a 12 V supply, how much
current passes through the 2 k-ochm resistor in mA? Tf& 1 k-ohm 3R 2 k-ohm & Al 12V
TS ﬁw@%ﬁr&’f% ar 2 k- ohm WﬁmAﬁWWWW@H@Tﬁ7

A4 T IB)e' - 'C)S = |D)12

40 x 1 0'3 Ampereissameas___ 40X 10'3 TR ?W =1

A) 40 mA ‘ ) lB)40|,1A . |C)40kA 'D)40nA

24

If the time penod of a signal is 10 micro-second, then calculate the frequency of the s1gnal7 afe

T Rraer 1 yraEal 10 Gigh-Qds 8, O R P gy 7o B2

A) 100 MHz [ B) 1000 H=z — ] C) 10 kHz 1D) 100 kHz _

25

Normally Zener Diode is connected in __ - arm??rlruz@m?g@g - | g@@m%:

A) Forward mode B) Reverse mode faa o= C) Both A & B D) None of these
HRIs OIS A 3R BT =8 § B 7

26

To increase the current in a series RL circuit, the frequency should be H’@?ﬂ RL

IfHe H 4RT 1 Sg™ & 1, sngiRi &1 __ =nfgdl

A) constant R | B) decreased 9T | C) increased S@TI D) can nOt be demded

27

Above is the symbol for ; S HUR '_ T UP gl

A) Diode SIS B) Capacitor FHurex | C) PNP Transistor D) NPN Transistor
PNP cifSiex NPN

28

Calculate the percent of regulation of voltage if Vno-load = 20 V and Vfuli-load = 19.8 V?

AfE Voodoad = zoya?ltvfuu-soaa =19.8V7T, E‘r‘tﬁwaﬁéﬁﬁnam 1 AR TOFTHY 2 -

A)0.01% [B)0.1% [C) 1% : [D) 10%

29

A transnstor has a Bac of 250 and a base current, Ig, of 20 uA The collector current, Ic, equals to

= WET%R‘ETﬂBchSO%CﬁR'aH%I’RT Is, 20pA%IW&‘JRT Ic, - P e
| . :

A) 500 uA [ B) 5 mA {C) 50 mA [ D) 5A

30.

The output voltage phase angle of a transformer with respect to input voltage is: - _ Degree.

FYc dieesl & Tad 7 ek F Scye diees & ol BT HI0T = et

A) O 1 B) 90 ] 1 ©) 180 . - ] D) 270

31

Meter A & B require 80 mA & 60 mA respectively to indicate full scale deflection. Then select
correct option? HieX A 3R B &1 guf OHH W= fa&uor ex1f & RT FHART: 80 mA 3R 60 mA Ft
TaaHdar skl o b uel ieea g7 , ‘

A) Meter A is most B) Meter B is most | C) Both meter are D) None i &l
sensitive sensitive ] equally sensitive_ -
Hiex A 99 , HlexBAsd A Hiex ga=
Page 3 of 5
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32

In electronics, the full form of LCD is . I H, LCD H1 49Ul =9 Bl

A) Logical Crystal B) Liquid Crystal C) Liquid Character D) Light Crysfal Diode
Display Display - Display

33

For making P-type semiconductors, we require to add impurity as doping material.

P-UPSR b1 3ffHrarsd s %ﬁﬁmsﬁ B SR IRl F U T SO Sl

A) Pentavalent Ua3ISI®5 | B) Carbon &1 | C) Trivalent B=Eiei® | D) Silicon Rifep4

34

For increasing the voltage rating, zener diodes are connected in 1 diccoT T geM & fAIg,
SRS ® __ HelisTSial g1 , v

A) Parallel B) Series-Parallel C) Series g el D) None of these
AR _ S-S qFIaR FTH A HIS T8

35

Only a single transistor can be used to build which of the following dlgltal logic gates%t{ﬁf
mmmmm@aﬁam %ﬁmmﬁammm%

36

A) AND [ByOR TS NOT g AND
The ripple factor of a bridge rectifier is . . oot Xfaew R 61 Rifaw

“A)0.48 — [ B)O.812 BESEEE - |D)1.21

37.

A common collector ampilifier is also known as

TP A1 Hadc TUATBRR BT ____ b =d
H ol ST ST |1 B ' '

A) Collector follower B) Base follower . | ©) Emiter follower D) Source follower

38

‘The breakdown mechanism.in a lightly doped P—N junction under reverse biased condltlon is

called breakdown. u@ﬁ%a&mﬂﬁfﬁﬁiﬁ%mﬁ ﬁ?aTIEP N Sige= H HeiA-
Sfraeor &Y ver-3ifiraaor et srar e

A) avalanche Ioi@a@_| B) zener 9=X | C) tunnelling €911 T | D) high voltage S=I dicesl

39

In binary, the decimal values 26 + 27 wnll produce a sum of: . GRTACT 26 + 27 BT HIA
fgemerd & _ grFm '

A)111010 | B) 110110 . l C)110101 | D) 101011

40

Galvanometer connected with high resistance in series is used as CsEen & I ufary
A IS R FISTART_____ &H w9 A fhar oiar g}

A) ammeter THiex. LB) voltmeter diecHIcT ] C) wattmeter dic HIEI | D) chmmeter 3TOHex

41

The common-mode gain of OP-AMP is g O Bl HEI-HSIH___ gl gl

A) Very high B) Very low ) Always unity . D) Unpre edictablé
wgd sarar SgdPH THRM TH SR

42

To work as an oscillator the total phase shift of the loop gain of an amplifier must be équalto_____

SR & U A BTH B & 1, TOBR & qU I &1 T ol Rioe BT =gl

A) 360° . LB) 90°, i(:) 270° . | D) 45°

43

In terms of the division on screen, the voltage of the waveform on CRO is ___ voltage. CRO

A O AU & Sadf &, a9 T aleest ST Bl

A) Average ST | B) RMS o #1eA 3 | C) Peak to Peak IRIER I [AER A | D Poak RIER
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Thermocouples are used for the measurement of . YHIBIA HIYA o5 Torg IuanT foear

a4
| STl
, A) Density g9 : ] B) Temperature Arqd | "C)Pressure GG ! D) Flow UaTe
45 Five number of 2V cells are connected in parallei, the output voltage is a2 a‘TE'a’T,
JoT IR H SIS SId §, 3T3eYe dieest | '
A) 1V . » 'B)ZV JC)175V o 'D)1OV'
46 | How many leads are present in transistor? E’Iﬁ&? ?ﬁg ¥4
A) 1 , [B52 [©)3 , [D)4
47 | Wheatstone bridge is primarily used for measurement of . T DlcweH o g8 =g
J H9A P T IuanT far Siar gl o , T
A) Resistance B) Capacitance | C) Frequency Qi1 D) Pressure a1
48 Identify the electronic component? Scid¢ Ycdh Pl Ugdd de?
A) Diode SIS | B) Transistor QT%RET C) Battery Ecsill D) Capacitor FafRkex
49 | With 30 A of current in a 1.2 Q resistor, the voltage Vis . 1.2 o Ufaige & URT 30 A B,
et BRI '
A) 30 V - IVB)120V |0)36kv “[DY36 VvV
50 | Paraliel circuit is a tank circuit. ____ GATTGR WiHhe U o Abe Sl 81
A) Capacitors %ﬁ‘ﬁlﬂ B) _h_'lductors ) C) Capamtor—lnductor : D) Resistor-Inductor
' Ssaed ' FORER-Ssa=x afeRIgF -SSaex
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